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Show all work, including on multiple choice questions.  Use appropriate units.
Convert each of the following to the indicated units.

1. 432 in.² to square feet

2. 245 yd² to square feet
3. 56 acres to square feet
4. 14 L to gallons
5. 8 gallons to fluid ounces
6. Find the cost of carpeting Jami’s basement, which is 520 square feet, with carpet that costs $17.50 per square yard. 
7. Laura wants to paint the walls in her bedroom.  A gallon of paint will cover 400 ft².  She measures the surface to be painted and it is 280,126 in².  How many whole gallons of paint will she need? (Remember: we cannot buy a fractional gallon)

Convert each of the following to the indicated units.

8.  345 oz to pounds

9. 8 T to pounds

10. 16 oz to grams

11. 22°C to Fahrenheit

12.    67°F to Celsius
13. A chemistry teacher has 1543 grams of a substance and she wants to separate the substance into 4-oz jars.  How many 4-oz jars can she fill?

14. [image: image1.png]In the kitchen you work at, you need to find a
‘container to store the soup stock. One cylindrical
container is 18 inches tall and has a diameter of

8 inches. About how many cups of soup stock

will the container hold?
A4
B 15
c 6
D. 501
E. 904



 
[image: image3.png]Farmers must monitor their cattle for signs of infection or disease. A cow’s healthy body temperature is
102.5°F. What is its body temperature in degrees Celsius?

a 412°C o 43°C
b, 39.2°C d 372°C




15. [image: image4.png]‘Smoked salmon is being sold for $15.50 per pound. What is the cost of 6 ounces of salmon?

a $1162 o $581
b $7.75 d $721




16. Find the perimeter or circumference and area of each figure. Round to the nearest tenth.
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[image: image5.png]Ivan can bench press 270 Ib at the gym. What is this weight in kilograms?

a 1278kg ¢ 1025kg
b, 1350kg d 1225kg
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17. Find the radius of a circle with circumference of 94ft.
18. Find the height of a trapezoid with bases 4ft and 10ft and area of 115.5 ft².

19. [image: image10.png]‘How much wood do you need to form a triangular garden frame if one side of the frame has a length of 11 ft,
and the other two sides are 2 feet longer than the first side?

a 36ft e 35ft
b 3ft d 37f




Area Circle=
Area Square =
Area Triangle =
Area Parallelogram =
Area of Shaded Region = 
20. June decides to jog around a city park. The park is shaped like a circle with a diameter of 250 yards. How many loops around the park does June have to jog to go 1 mile?  Round to the nearest tenth.  
21. The land that you are purchasing for your business is a rectangle that is 650 feet by 810 feet.  Approximately, how many acres is this area?

a) 1.25

b) 12.09

c) 1,490

d) 2,920

e) 526,500

22. [image: image11.png]‘The diagram shows the lid of a child's shape-sorter box. Calculate the area
of the lid, giving your answer correct to 1 decimal place.

142cm

105 em




23. [image: image12.png]‘The diagram shows a wooden block that
has had a hole drilled in it. The diameter
of the hole s 2 em.

Calculate the volume of this solid, giving
your answer correct to 2 decimal places.




As a caterer, you must fill 75 glasses to the rim with punch.  Each glass is shaped like a cone, with a radius of 2 inches and a height of 3 inches.  About, how many gallons of punch must you prepare in order to fill all the glasses?

24. In the kitchen where you work, you need to find a container to store soup.  One cylindrical container is 18 inches tall and has a diameter of 8 inches.  About how many cups of soup will the container hold?
[image: image13.png]As a caterer, you must fill 75 glasses to the rim
with punch. Each glass is shaped like a cone with
a radius of 2 inches and a height of 3 inches.
/About how many gallons of punch must you
prepare in order to fill all of the glasses?

A s
B 26
c =
D 1,65
E 1884




25. Three tennis balls are stacked vertically to the top of a cylindrical container. The radius of each ball and the container is 4 centimeters.
a. Sketch a front view of the container. Label the radius of each tennis ball and the radius and height of the container.

b. Find the volume of one tennis ball.

c. What is the volume of all three tennis balls?

d. Find the volume of the cylindrical container. 

e. Find the volume of the empty space inside the container?

BONUS – 
[image: image2.png]- You are testing a circuit at the factory you work
for. The load draws 1,800 watts of power and
has a voltage of 10 volts. What is the current in
amps?

A 82
B 179
c 1810
D. 180

E. 18,000




